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simplify each expression, given that the divisors are not equal to zero.
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Algebra 1

Assignment

implify. Write each answer in scicntiﬁc notation.

24x10° 5”0 L7 o ' S
YT 9.6 x 10° a 8x10° Q ;

4.7x1072 I ) 25%10° |7Q ”0 ‘
3)206 107 Q%XO 53x102

:
= 2.088x10
:4.">t{x10f

5) (7x10%)(62x 107)=4. 34 X |0-Ll

6) (2.9 x 10%)(7.2 x 10°)

7) 2x10')(a64x 102) 9, 1§« IOJ

8) (7x 10%)(6.2 x 10?)

Factor the common factor out of each expression.

93-3k+32 (|- +£2) 10) ~24p? - 64p* — 24p° lﬂ)‘(—Ta ‘lépl—ép”> ‘

1) -40xl2+25x‘+30x"=5)(q(‘gxg* 5XL' é’) 12) 7u®v® + 76y + 14032 Ty (vt VfQ)
: 3
13) 300/ - 6x°y +30x%y - 69‘3(57'3 X e5X)  14) 92 +18a% 4270 - Ga(al t 24 b+3)

Werite each number in scientific notation.

15) 33100 331101 16) 57 57x 10

17) 0.0594 5.94¢)0° 18) 800000 €O x 1V 2

Write each number in standard notation.

19) 858x10°  §550 20) 88x 10"  0.8%

21) 63x10° 0,0006> 22) 6.01x10° 40100
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. Determine each sum.

a) 5a2+2a+1 b)
+ a'+6a+h
bar +8a + ©

d) -3x%+4x-6 e)
+ 4x2-4x+6
e

g) 8m?+6m-12 h)
+ 5m-11

Em? ¢ lim -3

Subtractmg
Polynomlals ;

5n?-6n+5 c

' 4+) 2n*+8n-3

Int+2n +2

b?-4b-10 )
+ 2b2-4b+10
3b* -Gb

2s?+3s - 1 i)
+ 4s? +10
bs*+35 +9

+ 8y2-12y+4

+

+

4y2- 5y-3

(Y- 179 Fl
2r2+3r-5
2r2+6r+4

qr -1

4c2-10c+8

-4c? + 10c-8

(0]

- 2. Determine the sum of these polynomials.
a) (332 + 23+ 1)+ (2 -3a+5)4a*=0 * & b) (2P +r- 1)+(4r1—r+5)af_74 ¢
d (46~ 6b-1) + (56 + 6) SR S0l ) (6o s)it (Geiizall B0 Edei=oi
o) -2+ 6) + (2x2-3x—10)2X=5%=4 f (y2-8y)+ Gy-11) Ty*=-3y -4l
g) (3n2-12) + (4n?+6n+10) T0=+ 6N =2 p) (5a2-a+1)+(2a%+a-5) - -3t -y
i) (2m?- 5m)+(5m’+3m-1)—3m1'___ﬂ_| j) (-Bx? + 6x~ 1) + (3x2 - 2x - 5)2x>+UX -6

@tract and simplify like terms, if possible.

a) 9x-6x b) 15y - 10y? ¢) 2b*-3b*
3X %‘L S b3
d) 15c-(2c+1) e) 4a’-(4-2a) f) 3c3-(2¢*-5)
13c-1 bat«d BERez w5 ;
. Simplify each expression by subtracting.
a) (5a+7)-(3a+2) b) (2x%+3x) - (x* - 6x)
2a 15 x4+ 9
) 5n2-(-3n*+7) d) 10-(2x-12) ()
&n: -7 7 2975 \
o) (2y2+3y-1)-(byi-2y+3) f) (242 +5a) - (7 4a)
-ng 4-\53,—4 : 2at+0 -1
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his rectangle: @

/XV\ 3n+3 ;

S lfAn + 1 were cut from each of the rectangle’s
9 n ( PO dimensions, what expression would represent
ey 3? n+2 the perimeter of the new rectangle?

e @:Q(n—i) t3(n13) __1

SAn-2tYn ty < bn +P
@ e
e the following equations.

) (G Dl G L S e P Al

2n

/ = > 2 ;
bl 2x-(Bx+4) = (2x+3)=4x+ 11 ~AX=-T=H4X+t ] /-9:=0% k€ -3
Qisosceles triangle has a perimeter of (13x + 1) dm.

Write the simplest algebraic expression possible for
( " the missing side length.
(3x-5) dm (3x-5) dm
PBx+l=6¥-l0 tb
=i tlo —oX
?
£ 18
ke e oo
e perimeter of this commercial property is 254 m A f 2590 dm®
Determine: B 3);: (6 G 5 _’65_‘3__ §o
a) the length of each side; ( x=15 o
b) th eg : ECE e
rea. e Tl -
ea _ ST S
; 2x+10 |Yp i '
: A_‘: %|86dmL ] x+13
; [ 18
ao
A 6x F

P.a54 =ax+10 + 3xrb 133 +x 413 ooy

5’»’ ‘-lg)( 1= Qq = o
%’LC\ A0 '5;(:?,@5 :

&

Bs ¢ A=(’5'”’°)'7‘

\
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-Polynomials

1.} Find the product.

a) 5(2+x IDSEISY Bl3i(a=2) =24 - ©

o alGa+3) _5&*t3a ¢l Sl=m e S

e 4yG-yi =30y rg%’— f 320z-20 -32%-62

go these divisions.

R T e e T T T el SElOne ey e

d) Qiy:1457 =34 -1 e (Ex-4:-2 3xtl fl (-12+:24b) =6 __b_

%ivide, given that the divisors are not equal to zero.
ol (B 120 4oty QnutAa - b) (31 £657 32 at+l

¢ (1202:6b-30):6 _QbF tb-5 d) (16y* - 12y) = 43 Luf«%’%

2

Make each equation true using one of the following algebraic expressions.

C EN0E8s

a) 5a-2(a+61=|} c —12 b) l4a- 1)’--&u—1ea2 Eoatd

o (ﬁa+1)(3+a)=+sa‘+193 dl -a(z+a)*=,|‘|_@-ﬂa‘+:-cé

“e) 3(33:3-a)+3a -1)=9+3a=+3a




image4.jpeg
Aultiply@ @

a) x(3y+2)+ = — e
i @*Méz;j 2¥ 14Xy -y

b) a(5-2b) - X —J
) x(a+7a) g @@_} ba -Yab t+ 3b
+ a(3x - 6) @
Xa* tTax ¢ 3ax -
d) 7ci2b- Llax +3px -6a| Ka* +l0xa -
o2b-c)~ bigc+30) [140h ~76% - 5be = % xa -ba
e) (8a-6) (2b + 4a) m bbe -Tc? -3
200 +3da —12b-24a
M‘_’_O_Q(;Lljl = 2561 s qdl

fl (5c-2d) (5c + 2d)

oy
ivide. The divisors are not equal to 0

8ab?-dab
S L p) Sa'bl-12ab! e

o) b= tsats e

3 ab -5¢ 240 + 12y 4 By 2
LAl g d) B -4y - 2xy-

“
Dolve the following equation.
(3x + 12) (2x - 5) + 4x (2x=5) = Tx (2x=1)

_{0+ 6 15X 1Y% + 8 ¥ ~204 = 14 -7,
e DS T

lox = 6O x=02 . 15
16 i
T\tgfloor in your room is rectangular. Q‘A +4 +5
Its width can be represented by the
algebraic expression (x + 2) m. The X1 A
length is twice the width plus 5 m.
Write an algebraic expression for the a Xt q

area of the floor.-
A= (Ax+2)(%42)
= 2ty rAx 8
Qi 3y + 1 '
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/34 into 3 parcels: A, B, C.

30-2x

A lot has the shape and dimensions (in dan@n below. The owner wants to divide

b-#

a) What is the perimeter of the lot?
P=1S r 30-AF 1.X% t 15 X VK Y50 e ?0/1,/

b) Write an algebraic expression for the area of each parcel.

(= A= (30-3%)(15 - %)
b= 30%-3%* Z4B0-30% -30% 4 d%
= 450 « A%

7

. Arectangular patio has length 2 m less than twice its wi

ect: its width. The
patio is surrounded by a border of square tiles with side 1 m. If the
total area of the border is 30 m?, find the area of the patio.

dx(%rd) - ¥(21x-2) =30
AWty -2y +2% = 30
6x=
=

?he area of triangle ABCiis given by the algebraic expression 10a*
from B s 4a.units, find the length of side AC.

+ 6a. If the height drawn





